A

FAST-BACK® (FBK]

All-in-one fully digital DRIVE+MOTOR.
The decentralized structure gives you
much more freedom in designing your
machine’s layout. Installation, commissioning
and service are much simpler. Many advan-
tages such as cables and control cabinet
space reduction. Motion controller and EMC
line filter suppression are integrated.

STANDARD FEATURES SPECIFICATIONS

v Power supply 230 Vac three phase v Operating frequency 10 KHz

v EMC line filter and in-rush circuit integrated v Ambient temperature

v Power supply for control circuits obtained from DC Bus - operating at rated data: O + 45°C (no derating)

v Integrated regenerative circuit and power resistor - rated and peak current derating: 45 + 55°C (2.5%/°C)

v Optical insulation between power stage and signals - maximum operating: 55°C max

v Integrated positioning control - storage: -20 + 55°C

v Feedback from encoder 2048 P/rev v Altitude A.M.S.L.

v CAN BUS - CAN V2.0B standard (°4 Optocoupled) - operating at rated data: 1000 m

v CAN OPEN protocol implementations: - rated and peak current derating: 1000 + 2500 m
- part of the DS301-v4.02 (1.5 %/100m)
- part of the DSP402-V2.0 v Storage duration 1 year max*

v Fully programmable via RS232 (opto-isolated), Mod Bus-RTU based v/ Protection class P54

v Speeder-One® software interface (\Windows 98,/2000/XP based)

v Multidrop interface RS232 to CAN BUS *: After 1 year storage duration the internal electrolitic

power capacitors must be re-formed. ]
OPTIONS Contact Axor's technical department for details.

v Power SUpp|\j 230 Vac single phasee TYPICAL APPLICATIONS

v Holding brake (internally controlled) - food processing

v Protection class: IPB5, IPB5S (with shaft sealing) - labelling equipment

v Special flange and shafts available upon request - adjustment of formats

v Special windings - medical equipment

v 2 digital inputs (opta-isolated) 24 Voc - 7 mA (PLC compatible] - /a.s;"/ water jet cutters

v 1 digital output (opto-isolated) 24 Voc - 50 mA (PLC compatible) Rl ;’gg;f;’;”’me”t

v analog programmable output =10 Voc - 10 mA - limit stop adj. for wood,

v RS485 interface, Mod Bus - RTU based (°4 Optocoupled) 230 Kbps max metal working machines

v Safety Enable Function - size adj. for packing machines

| SERIES | FBK 75 | FBK 100
L xs | s .M | L | S | M|
1.1 1.6 2.7 3.8 3.2 5.2

Mo stall Torque (At=100°C) (Nm) . . . . . . 7.9
Mpk Peak Stall Torque (x 2 sec.)  (Nm) 3.3 4.8 8.1 10 10.3 10.5 15
Nn Rated speed” (Rpm) 3000 3000 3000 3000 3000 3000 2200
Mn Rated torque at Nn (At=100°C) (Nm) 0.95 1.35 2.35 3.3 2.8 4.5 6.4
Power Supply (grounded systems only) 230 Vac + 10% three phase (single-ph as optional feature)?
Logic Supply (for back-up only) 24 \Ioc (£10%) - 200mA
Logic Supply (for back-up+brake) 24 Vo (£5%) 800 mA max
J  Rotor Inertia (Kgm»10“] o4 [ o6 | 1 | 14 18 | 28 | 38
Js  Brake Inertia (Kgm?)-10°* 0.122 0.37

| MODULE [ 2 [ 3 | 5 [ 7 | 3 | 5 | 7 |

NOTE ;: Rated speed refers at 230 Vac power supply three phase

. Single phase does not allow you to obtain the rated performance (torque and speed). Contact Axor's technical department for details.

* AXOR IND. A COMPLETE LINE OF MOTORS AND SERVODRIVES *



* AXOR IND. A COMPLETE LINE OF MOTORS AND SERVODRIVES *

MECHANICAL DIMENSION.

X2 X1 X3

7

ﬁh
wy

WEIGHT with BRAKE

NOMINAL SPEED Ex: 30=3000 Rpm

POWER SUPPLY MODE:
220T= Three ph. 230 VAac (std.)

FEEDBACK:

3= IP65S with shaft oil seal (opt)

9
8
g
5
e
2
8
2
9
g
2 - [
j;j FBK 75 XS 1.1 230 280 2.85 3.45
2 FBK758 1.6 245 295 1| 23 | 4x18 | 125 3.3 3.9
§ FBK75 M 2.7 975 35 M4x10 | 60 | 90 | 55 | 75 |M5x8 | 25 | 10 | 75 | 100 49 48
N FBK75L 3.8 305 355 14 | 30 | 5x25| 16 5.0 5.6
5 FBK 1008 3.2 303 359 5.8 6.5
N FBK 100 M 5.2 338 394 19 | 40 | 6x32 | 215 | Méxit6| 95 | 115 | 9 | / | / 3 | 12 100|135 7 7.7
3 FBK100L 7.5 373 429 8.2 8.9
S
B CONNECTION DATA
o
£ POWER SUPPLY CONNECTOR X1 CAN BUS IN/OUT K2 - X3 SIGNALS IN/OUT X4 RS232 X5
g 1 = L1 (Power supply) ;=@£E/8hleld 1=DGT-IN 1 1=TXD
=5 2 =12 (Power supply) = 2 =DGT-IN 2 2=RXD
S | 3 <424 Vo (back-up) 3= RGND, (0V CAN) 3= DGT-OUT 1 8 -PGND
29 | 4=L3 (Power supply)* N 4 = DGT-IN/OUT RTN 4=AN-0UTA1
S 2 | 5 =0 Voc(back-up) RS 485 IN/OUT 5 = @ PE / Shield 5=AGND
§< | @=PE 1=@ PE/ShleId <
8& 2.4 L Mi2ap M12/5p MI12/5p
@ E *: for three phase 3=PGND (0V 485) ﬂé connector connector connector
.E § power supply only 4= ©
§a
§§ TORGUE VS. SPEED
Sg |3 3 E i ¥ g ® 3 & 3 >
2 £ | 15 KS]\ IR FETT] VR TV 100 B 100 M SE1 100 | |SEE
CE RV - i e e N e E R R P =
g s = E & Ele g = & Ele ~5 = 1= = i
e : g I £ o2 2. .8 NI |2 -1g g
o | |B I 5 g 5. .8 e~ 18 L;m S \g -IE =
H: L. T \ |l :
$3 - \[ |- -
83 [ ~ ~
8 3 | SPEED (rpm)x1000 [ -
N ° - °
a8
Eé Example: HARDWARE
5>
28 FBK 75 M 30/220T - 000D00X - 0 T19 1 1000X - Sxxx
NAME: Drive’s nameI HOLDING BRAKE PROTECTION CLASS: I
SERIES: 75100 O=without brake (std) [1=1P54 (std) IS’EEIS:IE“%EN?OTSER
SIZE: XS, S, M, I 1=with brake (opt) 2=1P65 (opt) )

T15=Encoder 0IH3506- 2048PPR (std for FBK 75)
T05=Encoder 0IH4808- 2048PPR (std for FBK 100)

T
001+999= specific number

5 =

3 220M= Single ph.230 Vac (opt) e o
g FLANGE & SHAFT 000 D 00 X standard flglri ;II motors (see above) E E
w
N MOUNTING FLANGE———MM —— -|-_ . < 7
9 000= standard (see above) X= W'th ke¥ (standard) ADDITIONAL FEATURES: =
Q 001-499= |EC metri w= withou key <0pt|0na|) =
o +499=|EC metric dimension —
o 501-999= Axor’s internal code SHAFT DIAMETER: T = — e
3 MOUNTING HOLES: 8? St%"dI%rg (Sete abdove) t CBID: CAN BUS+ T Not in use
) D= B5 flange with thru holes (standard) 511092 A me V{C |a|megr MULTIDROP intert
e C= B14 flange with threaded holes (optional +99= Axors internal code 1= Present (std) geﬂgfgiegreﬁ%{é?
é SPECIAL FLANGES & SHAFTS B DV W U N|6 MFJ P ESReT 0= Not present (opt) 1= Present (opt)
2 100D14X (FBK 75 all sizes) |14 |30(5x25[ 16 [M4x10] 80 |100]6.6) — 3110/90 [115 SEF: Safety
5 | [130D14X (FBK75 all sizes) [14[30[5x25] 16 [M4x10[110[130 8 [— [ — [3.5[10[115[150 RS485 Interface f"agrlgsggpfgﬂt')‘
& | [100C1X (FBK 100 al sizes)| 19 [40]6x32[21.5[ex16] 80 | — | —[100[Mext0] 3 [12] 95 [120 Do et sta) 0 No: Brosem [st)

115D24X (FBK 100 all sizes)| 24 | 50(8x40| 27 [M8x19] 95 115 9 [—| — [3[12[100{135

130D19X (FBK 100 all sizes)| 19 | 40{6x32 [21.5[M6x16]110]130] 9 | —| — [3.5[12{115/150

AXOR INDUSTRIES Fhaitl e

viale Stazione,5 - 36054 Montebello Vic.no - Vicenza - Ital

phone: (+39) 0444 440441

web site: www.axorindustries.com - e-mail: info

(8 lines) - fax:

+39) 0444 44041
axorindustries.com





<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveEPSInfo true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputCondition ()
  /PDFXRegistryName (http://www.color.org)
  /PDFXTrapped /Unknown

  /Description <<
    /ENU (Use these settings to create PDF documents with higher image resolution for high quality pre-press printing. The PDF documents can be opened with Acrobat and Reader 5.0 and later. These settings require font embedding.)
    /JPN <FEFF3053306e8a2d5b9a306f30019ad889e350cf5ea6753b50cf3092542b308030d730ea30d730ec30b9537052377528306e00200050004400460020658766f830924f5c62103059308b3068304d306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103057305f00200050004400460020658766f8306f0020004100630072006f0062006100740020304a30883073002000520065006100640065007200200035002e003000204ee5964d30678868793a3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /FRA <>
    /DEU <>
    /PTB <>
    /DAN <>
    /NLD <>
    /ESP <>
    /SUO <>
    /ITA <>
    /NOR <>
    /SVE <>
    /KOR <>
    /CHS <FEFF4f7f75288fd94e9b8bbe7f6e521b5efa76840020005000440046002065876863ff0c5c065305542b66f49ad8768456fe50cf52068fa87387ff0c4ee575284e8e9ad88d2891cf76845370524d6253537030028be5002000500044004600206587686353ef4ee54f7f752800200020004100630072006f00620061007400204e0e002000520065006100640065007200200035002e00300020548c66f49ad87248672c62535f0030028fd94e9b8bbe7f6e89816c425d4c51655b574f533002>
    /CHT <FEFF4f7f752890194e9b8a2d5b9a5efa7acb76840020005000440046002065874ef65305542b8f039ad876845f7150cf89e367905ea6ff0c9069752865bc9ad854c18cea76845370524d521753703002005000440046002065874ef653ef4ee54f7f75280020004100630072006f0062006100740020548c002000520065006100640065007200200035002e0030002053ca66f465b07248672c4f86958b555f300290194e9b8a2d5b9a89816c425d4c51655b57578b3002>
  >>
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [595.000 842.000]
>> setpagedevice


